
The model

yt = Yt − Y t (1)

Y t = Y t−1 − θ(U t − U t−1)− (1− θ)(U t−1 − U t−20)/19 +GYt /4 + εYt (2)

GYt = τGYSS + (1− τ)GYt−1 + εG
Y

t (3)

yt = ρ1yt−1 −
ρ2

100
(π4t−1 − π4LTEt−1 ) + εyt (4)

π4t = π4t−1 + βyt + Ω(yt − yt−1) + επ4
t (5)

π4LTEt = π4LTEt−1 + επ4LT E

t (6)

ut = U t − Ut (7)

U t = U t−1 +GUt −
ω

100
yt−1 −

λ

100
(U t−1 − Uss) + εUt (8)

GUt = (1− α)GUt−1 + εG
U

t (9)

ut = φ1ut−1 + φ2yt + εut (10)

ct = Ct − Ct (11)

Ct = Ct−1 +GCt + εCt (12)

GCt = (1− δ)GCt−1 + ε
GC

t (13)

ct = κ1ct−1 + κ2yt + εct (14)
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Model in IRIS

LGDP = LGDP_BAR + Y;
LGDP_BAR = LGDP_BAR{-1} + G/4 + RES_LGDP_BAR

- lab_share*(UNR_BAR - UNR_BAR{-1}) -(1-lab_share)*(UNR_BAR{-1} - UNR_BAR{-20})/19;
G = (1-tau)*G{-1} + tau*growth_ss + RES_G;
Y = rho1*Y{-1} - rho2/100*(PIE4{-1} - PIELTE{-1}) + RES_Y;
GROWTH = 4*(LGDP - LGDP{-1});
GROWTH4 = LGDP - LGDP{-4};
GROWTH_BAR = 4*(LGDP_BAR - LGDP_BAR{-1});
GROWTH4_BAR = LGDP_BAR - LGDP_BAR{-4};

PIELTE = PIELTE{-1} + RES_PIELTE;
PIE4 = PIE4{-1} + beta*Y + omega*(Y - Y{-1}) + RES_PIE;

UNR_GAP = UNR_BAR - UNR;
UNR_BAR = UNR_BAR{-1} + UNR_G

- parhist/100*Y{-1} - lambda/100*(UNR_BAR{-1} - unr_ss) + RES_UNR_BAR;
UNR_G = (1-alpha)*UNR_G{-1} + RES_UNR_G;
UNR_GAP = phi1*UNR_GAP{-1} + phi2*Y + RES_UNR_GAP;

CAPU = CAPU_BAR + CAPU_GAP;
CAPU_BAR = CAPU_BAR{-1} + CU_G + RES_CAPU_BAR;
CU_G = (1 - delta)*CU_G{-1} + RES_CU_G;
CAPU_GAP = kappa1*CAPU_GAP{-1} + kappa2*Y + RES_CAPU_GAP;
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